Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: LAKELAND VILLAGE MDP LINE H

Project Number: 3-0-0020-01

Bid Open Date: 10/20/2021



			ENGINEER'S	SESTIMATE	KEC ENG	INEERING	WEK	A, INC.	
Item No. Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
1 MOBILIZATION	L.S.	1	\$400,000.00	\$400,000.00	\$30,000.00	\$30,000.00	\$560,000.00	\$560,000.00	
2 WATER CONTROL	L.S.	1	\$40,000.00	\$40,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
3 TRAFFIC CONTROL	L.S.	1	\$150,000.00	\$150,000.00	\$50,000.00	\$50,000.00	\$147,964.00	\$147,964.00	
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$100,000.00	\$100,000.00	\$50,000.00	\$50,000.00	\$100,000.00	\$100,000.00	
5 EXCAVATION	C.Y.	38,580	\$15.00	\$578,700.00	\$29.00	\$1,118,820.00	\$8.00	\$308,640.00	
6 PRECOMPACTION	S.Y.	1,300	\$5.00	\$6,500.00	\$4.45	\$5,785.00	\$4.00	\$5,200.00	
7 BASIN, INLET AND OUTLET EXCAVATION	C.Y.	27,190	\$12.00	\$326,280.00	\$26.00	\$706,940.00	\$18.50	\$503,015.00	
8 ROCK EXCAVATION	C.Y.	1,000	\$70.00	\$70,000.00	\$182.00	\$182,000.00	\$85.00	\$85,000.00	
9 STREET PAVEMENT EXCAVATION	C.Y.	131	\$15.00	\$1,965.00	\$140.00	\$18,340.00	\$30.00	\$3,930.00	
10 MAIDEN LANE ROADWAY EXCAVATION	C.Y.	212	\$15.00	\$3,180.00	\$28.00	\$5,936.00	\$30.00	\$6,360.00	
11 BACKFILL	C.Y.	18,870	\$15.00	\$283,050.00	\$28.00	\$528,360.00	\$8.00	\$150,960.00	
12 EMBANKMENT	C.Y.	1,284	\$10.00	\$12,840.00	\$18.00	\$23,112.00	\$16.00	\$20,544.00	
13 CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	6,035	\$135.00	\$814,725.00	\$186.00	\$1,122,510.00	\$150.00	\$905,250.00	
14 FILTER MATERIAL	C.Y.	945	\$75.00	\$70,875.00	\$38.00	\$35,910.00	\$46.00	\$43,470.00	
15 TRENCH SAFETY SYSTEM AND FALSEWORK/SOLID SHEETING TRENCH SAFETY AND FALSEWORK	L.S.	1	\$303,640.00	\$303,640.00	\$450,000.00	\$450,000.00	\$116,325.00	\$116,325.00	
16 CLASS "A" CONCRETE, REINFORCED CONCRETE BOX	C.Y.	354	\$1,000.00	\$354,000.00	\$1,240.00	\$438,960.00	\$1,800.00	\$637,200.00	
17 CLASS "A" CONCRETE, BIFURCATION STRUCTURE	C.Y.	52	\$1,200.00	\$62,400.00	\$1,150.00	\$59,800.00	\$1,450.00	\$75,400.00	
18 CLASS "A" CONCRETE, ENERGY DISSIPATOR - IMPACT BASIN	C.Y.	223	\$1,000.00	\$223,000.00	\$1,300.00	\$289,900.00	\$1,325.00	\$295,475.00	
19 CLASS "A" CONCRETE, SEDIMENT BASIN OUTLET STRUCTURE	C.Y.	20	\$1,200.00	\$24,000.00	\$4,000.00	\$80,000.00	\$4,300.00	\$86,000.00	
20 CLASS "A" CONCRETE, WALLS	C.Y.	340	\$1,000.00	\$340,000.00	\$1,250.00	\$425,000.00	\$2,300.00	\$782,000.00	
21 CLASS "A" CONCRETE, MINOR STRUCTURES	C.Y.	471	\$1,200.00	\$565,200.00	\$1,350.00	\$635,850.00	\$1,725.00	\$812,475.00	
22 CLASS "A" CONCRETE, SLOPE PAVING AND FOOTING	C.Y.	107	\$600.00	\$64,200.00	\$1,000.00	\$107,000.00	\$1,290.00	\$138,030.00	
23 CLASS "B" CONCRETE, 4' CUTOFF WALL	C.Y.	75	\$600.00	\$45,000.00	\$1,600.00	\$120,000.00	\$1,385.00	\$103,875.00	

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: LAKELAND VILLAGE MDP LINE H



Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: LAKELAND VILLAGE MDP LINE H

Project Number: 3-0-0020-01

Bid Open Date: 10/20/2021



			ENGINEER'S	SESTIMATE	KEC ENG	INEERING	WEKA	A, INC.
Item No. Description	Unit	Quantity	Init Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
24 CLASS "B" CONCRETE, 6' CUTOFF WALL	C.Y.	95	\$600.00	\$57,000.00	\$1,330.00	\$126,350.00	\$1,250.00	\$118,750.00
25 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	122	\$600.00	\$73,200.00	\$1,100.00	\$134,200.00	\$550.00	\$67,100.00
26 CLASS "B" CONCRETE, CONCRETED ROCK	C.Y.	60	\$330.00	\$19,800.00	\$240.00	\$14,400.00	\$175.00	\$10,500.00
27 TRANSITION STRUCTURE NO. 1	EACH	8	\$14,000.00	\$112,000.00	\$35,000.00	\$280,000.00	\$53,000.00	\$424,000.00
28 TRANSITION STRUCTURE NO. 3	EACH	6	\$10,000.00	\$60,000.00	\$12,350.00	\$74,100.00	\$9,000.00	\$54,000.00
29 JUNCTION STRUCTURE NO. 2	EACH	5	\$3,500.00	\$17,500.00	\$3,800.00	\$19,000.00	\$6,600.00	\$33,000.00
30 JUNCTION STRUCTURE NO. 8	EACH	1	\$7,500.00	\$7,500.00	\$16,000.00	\$16,000.00	\$1,300.00	\$1,300.00
31 MANHOLE NO. 1	EACH	1	\$6,000.00	\$6,000.00	\$7,700.00	\$7,700.00	\$8,500.00	\$8,500.00
32 MANHOLE NO. 2	EACH	7	\$9,000.00	\$63,000.00	\$16,400.00	\$114,800.00	\$12,800.00	\$89,600.00
33 MANHOLE NO. 3	EACH	1	\$2,000.00	\$2,000.00	\$3,200.00	\$3,200.00	\$20,000.00	\$20,000.00
34 MANHOLE NO. 4	EACH	3	\$14,000.00	\$42,000.00	\$24,500.00	\$73,500.00	\$44,500.00	\$133,500.00
35 MANHOLE NO. 2 WITH SAFETY LEDGE	EACH	1	\$17,000.00	\$17,000.00	\$27,400.00	\$27,400.00	\$26,700.00	\$26,700.00
36 MANHOLE NO. 3 WITH SAFETY LEDGE	EACH	1	\$5,000.00	\$5,000.00	\$10,600.00	\$10,600.00	\$28,000.00	\$28,000.00
37 18" RCP	L.F.	856	\$140.00	\$119,840.00	\$113.00	\$96,728.00	\$495.00	\$423,720.00
38 24" RCP	L.F.	294	\$150.00	\$44,100.00	\$135.00	\$39,690.00	\$500.00	\$147,000.00
39 30" RCP	L.F.	14	\$120.00	\$1,680.00	\$148.00	\$2,072.00	\$520.00	\$7,280.00
40 42" RCP	L.F.	548	\$160.00	\$87,680.00	\$181.00	\$99,188.00	\$565.00	\$309,620.00
41 48" RCP	L.F.	161	\$190.00	\$30,590.00	\$224.00	\$36,064.00	\$605.00	\$97,405.00
42 66" RCP	L.F.	839	\$250.00	\$209,750.00	\$319.00	\$267,641.00	\$675.00	\$566,325.00
43 72" RCP	L.F.	1,571	\$300.00	\$471,300.00	\$422.00	\$662,962.00	\$820.00	\$1,288,220.00
44 78" RCP	L.F.	233	\$350.00	\$81,550.00	\$488.00	\$113,704.00	\$865.00	\$201,545.00
45 90" RCP	L.F.	1,419	\$500.00	\$709,500.00	\$744.00	\$1,055,736.00	\$975.00	\$1,383,525.00
46 96" RCP	L.F.	157	\$600.00	\$94,200.00	\$670.00	\$105,190.00	\$985.00	\$154,645.00
47 102" RCP	L.F.	100	\$700.00	\$70,000.00	\$1,128.00	\$112,800.00	\$1,215.00	\$121,500.00
48 VELOCITY CONTROL RING (D = 72", H = 6")	EACH	11	\$7,000.00	\$77,000.00	\$12,725.00	\$139,975.00	\$10,000.00	\$110,000.00
49 VELOCITY CONTROL RING (D = 72", H = 4.5")	EACH	6	\$7,000.00	\$42,000.00	\$12,725.00	\$76,350.00	\$10,000.00	\$60,000.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: LAKELAND VILLAGE MDP LINE H



Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: LAKELAND VILLAGE MDP LINE H



				ENGINEER'S	SESTIMATE	KEC ENG	INEERING	WEK	A, INC.
Item N	lo. Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
	50 ASPHALT CONCRETE GRINDING	S.F.	77,260	\$1.00	\$77,260.00	\$0.72	\$55,627.20	\$0.25	\$19,315.00
	51 AGGREGATE BASE, CLASS 2	C.Y.	910	\$75.00	\$68,250.00	\$148.00	\$134,680.00	\$47.00	\$42,770.00
	52 MAIDEN LANE AGGREGATE BASE, CLASS 2	C.Y.	318	\$75.00	\$23,850.00	\$120.00	\$38,160.00	\$47.00	\$14,946.00
	53 HOT MIX ASPHALT (HMA)	TONS	1,550	\$100.00	\$155,000.00	\$216.00	\$334,800.00	\$118.00	\$182,900.00
	54 MAIDEN LANE HOT MIX ASPHALT (HMA)	TONS	309	\$100.00	\$30,900.00	\$107.00	\$33,063.00	\$118.00	\$36,462.00
	55 6" AC DIKE PER RIVERSIDE COUNTY STANDARD NO. 212	L.F.	570	\$15.00	\$8,550.00	\$8.50	\$4,845.00	\$7.00	\$3,990.00
	56 8" AC DIKE PER RIVERSIDE COUNTY STANDARD NO. 212	L.F.	121	\$20.00	\$2,420.00	\$8.50	\$1,028.50	\$7.00	\$847.00
	57 TYPE D HMA DIKE PER CALTRANS STANDARD NO. A87B	L.F.	25	\$40.00	\$1,000.00	\$8.50	\$212.50	\$7.00	\$175.00
	58 TYPE E HMA DIKE PER CALTRANS STANDARD NO. A87B	L.F.	833	\$20.00	\$16,660.00	\$8.50	\$7,080.50	\$7.00	\$5,831.00
	59 TEMPORARY RESURFACING	TONS	400	\$115.00	\$46,000.00	\$150.00	\$60,000.00	\$135.00	\$54,000.00
	60 6-FOOT CHAIN LINK FENCE	L.F.	1,670	\$35.00	\$58,450.00	\$68.00	\$113,560.00	\$48.00	\$80,160.00
	61 TEMPORARY FENCING	L.F.	500	\$24.00	\$12,000.00	\$32.00	\$16,000.00	\$6.00	\$3,000.00
	62 CABLE RAILING	L.F.	703	\$30.00	\$21,090.00	\$70.00	\$49,210.00	\$59.00	\$41,477.00
	63 12-FOOT DOUBLE DRIVE GATES	PAIR	3	\$2,200.00	\$6,600.00	\$3,000.00	\$9,000.00	\$3,000.00	\$9,000.00
	64 14-FOOT DOUBLE DRIVE GATES	PAIR	6	\$2,600.00	\$15,600.00	\$3,200.00	\$19,200.00	\$3,300.00	\$19,800.00
	65 16-FOOT DOUBLE DRIVE GATES	PAIR	2	\$3,000.00	\$6,000.00	\$3,500.00	\$7,000.00	\$3,700.00	\$7,400.00
	66 MISCELLANEOUS IRON AND STEEL	LBS.	27,520	\$3.00	\$82,560.00	\$8.50	\$233,920.00	\$2.00	\$55,040.00
	67 DELINEATORS	EACH	3	\$100.00	\$300.00	\$450.00	\$1,350.00	\$150.00	\$450.00
	68 REMODEL 4-INCH VITRIFIED CLAY PIPE (VCP) SEWER HOUSE CONNECTION	L.F.	100	\$100.00	\$10,000.00	\$365.00	\$36,500.00	\$1,000.00	\$100,000.00
	69 RELOCATE WATERLINE HOUSE SERVICE CONNECTION	L.F.	100	\$40.00	\$4,000.00	\$650.00	\$65,000.00	\$850.00	\$85,000.00
	70 ADJUST SEWER MANHOLE TO GRADE	EACH	5	\$1,000.00	\$5,000.00	\$2,000.00	\$10,000.00	\$650.00	\$3,250.00
	71 ADJUST WATER VALVE TO GRADE	EACH	30	\$350.00	\$10,500.00	\$1,000.00	\$30,000.00	\$180.00	\$5,400.00
	72 BARRICADE	L.F.	81	\$55.00	\$4,455.00	\$200.00	\$16,200.00	\$60.00	\$4,860.00
	73 EXTRA DIRECTED WORK	L.S.	1	\$300,000.00	\$300,000.00	\$300,000.00	\$300,000.00	\$300,000.00	\$300,000.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: LAKELAND VILLAGE MDP LINE H



Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: LAKELAND VILLAGE MDP LINE H



			ENGINEER'S	SESTIMATE	KEC ENG	INEERING	WEKA	A, INC.
Item No. Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
74 ROCK SLOPE PROTECTION, CLASS VII (1/2- TON) ROCK	C.Y.	136	\$220.00	\$29,920.00	\$147.00	\$19,992.00	\$120.00	\$16,320.00
75 ROCK SLOPE PROTECTION, CLASS V (1/4- TON) ROCK	C.Y.	1,355	\$220.00	\$298,100.00	\$132.00	\$178,860.00	\$120.00	\$162,600.00
76 ROCK SLOPE PROTECTION, CLASS III (150 LBS.) ROCK	C.Y.	325	\$220.00	\$71,500.00	\$135.00	\$43,875.00	\$120.00	\$39,000.00
77 ACCESS ROAD CRUSHED ROCK	C.Y.	150	\$90.00	\$13,500.00	\$133.00	\$19,950.00	\$66.00	\$9,900.00
78 ROCK SLOPE PROTECTION (ESP) FILTER FABRIC	S.Y.	1,700	\$6.00	\$10,200.00	\$5.00	\$8,500.00	\$5.00	\$8,500.00
79 LOW FLOW TRENCH GRAVEL	C.Y.	54	\$90.00	\$4,860.00	\$37.00	\$1,998.00	\$67.00	\$3,618.00
80 LOW FLOW TRENCH FILTER FABRIC	S.Y.	180	\$6.00	\$1,080.00	\$8.00	\$1,440.00	\$5.00	\$900.00
81 DUST ABATEMENT	L.S.	1	\$75,000.00	\$75,000.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
82 HYDROSEEDING	ACRE	1.3	\$4,000.00	\$5,000.00	\$5,000.00	\$6,250.00	\$4,200.00	\$5,250.00
83 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$75,000.00	\$75,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
84 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00
85 MAIDEN LANE WATERLINE RELOCATION	L.S.	1	\$121,140.00	\$121,140.00	\$200,000.00	\$200,000.00	\$257,000.00	\$257,000.00
86 EVMWD WATERLINE RELOCATIONS	L.S.	1	\$24,000.00	\$24,000.00	\$83,000.00	\$83,000.00	\$56,000.00	\$56,000.00
87 6'W X 7'H PRECAST REINFORCED CONCRETE BOX (PRCB)	L.F.	321	\$1,100.00	\$353,100.00	\$1,096.00	\$351,816.00	\$1,150.00	\$369,150.00
88 5'W X 8'H PRECAST REINFORCED CONCRETE BOX (PRCB)	L.F.	312	\$1,200.00	\$374,400.00	\$1,120.00	\$349,440.00	\$1,225.00	\$382,200.00

Bid Abstract

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: LAKELAND VILLAGE MDP LINE H

